WA F 85

TR 2 5FE

FERITRE

(FR2 6 E£5 AXRIBE)

iz 2

— =5t (B - BAEA)
X FER
A B E 1,276
= B B 20
£ X B 436
&t 1,732
O EHHEL. PEFRFBBHOEEIHS—BRUOLEBR
O FE£RF. BERAN. BESSHES LBLEER
5 B R IR Al = &t (B - BAEA)
X HFER
A B E 633
= B B 583
£ X B 4,479
3 LRIRIGHE 13
&t 5,695

O =EHBEER. HTBHEXEMHERKEEX. ERRREXOEERVHBREMOBNRFILE
BREHE (XERRERVERERSR)

O Ex#HEF. 7BHEXTHERKEICE D RBHEHE ) RUBEKFBHEDHSERIZE
EZHL-ODUREREEEFEXRE, ERARKRECESCEAEXOTHEFREANREEZRS
EFOOERRESERFICLERERE

P
THBBICEWLWTXILbNIS

REAREXRE B =5t

o

(B -85M)

RIFEABIFHBREFIEICE DEADS 5. FEHELERERREICED A

X HEEE

%

%

A =1
% =1
£ X EB

Bt

OO |O|O

EBET. HEFREFBRDEEICRES—RUECEHE



